BK Fenix

Kursavslutning, lektion 18 2022-12-05

Partavling, 10 bord, 20 par. Antal brickor: 18. Medel: 144.0.

Plac Par Poéng % Namn MID Klubb
1 1 195.0 67.70  Hakan Nilsson - Agneta Paulsson 200258 201654 BK Fenix
2 4 188.2 65.34  Marianne Strandberg - Grethe Lindhe 91483 201645 BK Fenix
3 9 167.4 58.13  Ulla-Maija Johannesson - Kerstin Pernered 35171 201658 BK Fenix
4 18 165.9 57.60 Jorgen Persson - Per-Einar Larsson 201655 53482 BK Fenix
5 8 164.7 57.17  Annika Dahlman - Annette Areskog 201652 62808 BK Fenix
6 13 157.9 54.84  Gunnel Svérdh - Henrik Plantin 67730 67733 BK Fenix
7 3 156.3 54.27  Erik Hiilphers - Ake Lantz 48214 48936  BK Fenix
8 20 155.8 54.10  Britt-Marie Jonsson - Jens Jensen 201659 60302 BK Fenix
9 5 154.5 53.63  Eva Henriksson - Krister Jonsson 201660 6047 BK Fenix - Ystads BS
10 17 148.6 51.60 Lilleba Nilsson - Kristina Persson 200260 201656 BK Fenix
11 19 145.5 50.50 Ingrid Lange - Eva Persson 45023 201662 BK Fenix
12 16 1441 50.02  Jan-Erik Andersson - Monica Redin Plantin 200271 67732 BK Fenix
13 10 141.3 49.05 Claes Nilsson - Bertil Hofwander 60306 200270 BK Fenix
14 7 133.5 46.34 Margareta Martensson - Rose-Marie Nilsson 60321 201649 BK Fenix
15 15 1254 43.54  Martina Sandahl - Mats Gronvall 201653 60297 BK Fenix
16 2 124.9 43.37  Elvy Tufvesson - Anita Brundin 201646 26365 BK Fenix
17 14 115.3 40.04 Lotte Stahl - Kaj Nilsson 41059 201657 BK Fenix
18 6 1145 39.76  Monika Ivarsson - Sonja Andersson 53483 201661 BK Fenix
19 12 96.1 33.38 Inger Andersson - Britt-Marie Liljeholm 53488 200272  BK Fenix
20 11 85.3 29.61  Gertrud Sahlin - Eva Jonsson 201647 42028 BK Fenix
1 4 Kn75 Basta kontrakt 2 & K54 Bésta kontrakt 3 484 Bésta kontrakt
Nord v ED98 44 O =-420 Ost v DKn9 2NT S =120 Syd v3 6NT S =990
Ingen ¢ 1052 NS ¢ Kn9752 ov + KD10984
#EKN9 & ¢ v & NT *K3 & ¢ v & NT #E962 & ¢ v & NT
4 D862 4 EK1093 N657 265 4Kn762 #EDS8 N8 7 56 8 4Knl096 & E52 N 11127 1011
v543 v62 S657 25 vK7 vE106432 S 8 7 5 6 8 v K954 v 108762 S 11127 1012
¢ E863 ¢ KD O7 7 5 108 ¢ 843 + D106 045774 ¢ 765 +3 021621
KD £10642 V 7 7 5 108 #9872 %6 V45775 #105 #Kn873 V21621
a4 #1093 4 KD73
v KKn107 v 385 v EDKn
+ Kn974 ¢ EK ¢ EKn2
#8753 #EDKnN1054 #KD4
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
1 11 44 0-1 vK 50 16,0 0.0 1 11 3NS+1 v7 630 16.0 00| 9 16 6¢ N= aA 920 16.0 0.0
20 6 4v N-1 s A 50 140 20(16 4 2NN+1 v4 150 140 20|11 7 3NS+3 49 490 120 4.0
8 15 24 O= v7 -110 12.0 40|18 5 3#S+1 vK 130 120 40|15 4 3NS+3 46 490 120 4.0
18 5 24 O+1 w7 -140 100 6.0|13 7 34S= a7 110 100 6.0{20 1 3NS+3 & 490 120 4.0
9 17 24 O+2 97 -170 50 11.0({19 10 2v O-1 *A 50 80 80| 2 12 3NS+2 &7 460 6.0 10.0
13 7 24 O+2 v7 -170 50 11.0( 8 15 3#S-1 a2 -100 40 120|110 18 3NS+2 &6 460 6.0 10.0
14 3 24 O+2 44 -170 50 11.0| 9 17 3#S-1 4] -100 40 12019 6 3NS+2 v4 460 6.0 10.0
19 10 34 O+1 v7 -170 50 11020 6 44S-1 a2 -100 40 120|17 5 3NS+1 9 430 2.0 14.0
16 4 44 O= v7 -420 00 16014 3 2¢v0O= *A -110 0.0 16014 8 5¢ N= 3 400 0.0 16.0
4 4 ED5 Basta kontrakt 5 & KKn6532 Basta kontrakt 6 o E Basta kontrakt
Vast v EKn10 ANT N =630 Nord v ED5 ANT N =630 Ost vE963 5v SD-3-500
Alla + KD63 NS ¢ 72 ov + 10987
D108 & ¢ v & NT D6 & ¢ v & NT #10973 & ¢ v & NT
4 KKn963 4384 N 118 7 8 10 4E1094 D8 N 8 117 9 10 4 Knl109763 & KD542 N6 6 8 33
v K986 vD32 S 118 8 8 10 v 632 v K10987 S 8 107 9 10 vD vK8 S 66833
+ EKn9 410752 023553 ¢+K953 ¢4 0525143 + ED6 ¢ Kn53 07 75 107
*7 #Kn542 V24553 »83 #Kn10754 V 5 2 5 4 3 #Kn54 #ED2 V6 75 107
41072 a7 48
v 754 v Kn4 v Kn107542
+84 + EDKn1086 * K42
#EK963 #EK92 »K86
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 16 3BNN+1 &2 630 16,0 0.0|18 6 3NS+4 «4 720 160 00|11 2 44 0-1 vT 100 120 4.0
20 1 24V-2 3 200 140 20|20 7 3NN+3 vK 690 140 20|12 8 440-1 v7 100 12.0 4.0
19 6 INN+3 #4 180 120 40| 1 19 3NS+1 «4 630 120 40(16 5 44 0-1 vJ] 100 120 4.0
2 12 INN+2 438 150 90 7.0(10 17 34 N= vT 140 100 6.0(18 6 44 0O-1 v2 100 120 4.0
14 8 2NN+1 #4 150 90 7.0(16 5 3¢ N+1 K 130 80 80(20 7 440-1 v] 100 12.0 4.0
11 7 2¢ N= a4 90 6.0 100(15 9 24 S= *8 110 6.0 10.0(10 17 5¢vDS-3 +A -500 6.0 10.0
10 18 2v N-1 a4 -100 20 140| 3 13 44 N-2 *4 -200 20 140(| 1 19 44 O= vJ] -620 2.0 140
15 4 2NN-1 48 -100 20 140(11 2 5¢S-2 3 -200 20 140| 3 13 44 V= vA -620 2.0 14.0
17 5 2NN-1 vQ -100 20 140(12 8 3NS-2 a4 -200 20 140(15 9 44 0= vJ] -620 2.0 140
7 a7 Basta kontrakt 8 4 DKn8 Basta kontrakt 9 4 86 Basta kontrakt
Syd vKn4 ANT S =630 Vast v DKn5 5v N =450 Nord v EK54 54 O =-650
Alla + EDKn1086 Ingen ¢+ ED2 ov + KKn1093
#EK92 & ¢ v & NT #EK104 & ¢ v & NT D2 & ¢ v & NT
4 D8 « E1094 N 8 107 9 10 4 E106 497432 N7 6 116 8 & K32 4EDKNn1094 N 5 6 4 2 3
vK10976 v832 S 8 117 9 10 v E97 v4 S 7 6 116 8 v10982 D7 S56 423
*4 ¢ K953 0525143 + KKn983 ¢ 106 0652765 462 ¢+ ED7 08 7 9 1110
#Kn10754 %83 V52543 #Kn2 #D9875 V66275 #K1084 #E7 vV 8 7 9 1110
& KKn6532 4 K5 475
v ED5 v K108632 v Kn63
¢ 72 ¢ 754 ¢ 854
«D6 #63 #Kn9653
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 9 3NN+2 v8 660 16.0 0.0| 2 20 4v S+1 &2 450 16,0 00| 3 11 34 O= v6 -140 150 1.0
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1 18 3NS+1 v6 630 120 40| 1 18 3NN+1 +6 430 130 30| 5 15 24 O+1 ¢4 -140 150 1.0
4 14 3NN+1 v2 630 120 40|17 6 3NN+1 +6 430 130 30|14 10 24 O+2 43 -170  11.0 5.0
16 10 3NN+1 v2 630 120 40| 4 14 INN+4 +6 210 100 60|20 8 340+1 3 -170  11.0 5.0
17 6 3NS= v6 600 80 80|13 9 INN+1 &5 120 80 80|13 4 24 0+3 ¢4 -200 8.0 8.0
19 7 3¢ N+3 #3170 6.0 10.0|12 3 24 V-1 v5 50 6.0 10.0| 2 19 44 O+1 38 -650 4.0 120
2 20 3NN-1 a4 -100 40 12.0(16 10 3NN-1 v4 -50 30 13.0|17 1 44 O+1 &9 -650 4.0 120
11 8 3NS-2 *4 -200 10 150|119 7 3NN-1 +6 -50 30 13.0(18 7 44 O+1 ¢4 -650 4.0 120
12 3 3NS-2 v6 -200 10 150|11 8 2¢ V= *K -90 0.0 16.0|12 9 44 O+2 ¢4 -680 0.0 16.0
10 4 KDKn32 Basta kontrakt 11 4 K5 Basta kontrakt 12 4E1073 Basta kontrakt
Ost v7 5v O =-650 Syd v 1097 5v S =450 Vast v EKn982 54 N =650
Alla ¢+ E54 Ingen ¢+ E975 NS 463
»K872 % ¢ v & NT #8765 & ¢ v & NT *K5 & ¢ v & NT
«E105 » 64 N56 26 3 4 8742 » 96 N 4 7 11108 28 # 642 N7 6 7 118
vEKKn983 vD106 S45263 v6 v K543 S 4 7 11108 v K53 vD1074 S 76 7 118
732 ¢+ KD6 o7 7 117 8 ¢ DKn1032 ¢ K4 086222 ¢ KD1082 ¢ Kn97 066525
*6 #EKNn1095 VvV 7 7 117 8 #ED3 #KKn1094 V 8 6 2 2 2 #E1074  #Kn98 V66525
# 987 « EDKn103 « KDKn95
v 542 v EDKn82 v6
¢ Kn1098 +86 ¢ E54
#D43 *2 *D632
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
18 7 4v V-1 aJ 100 160 00| 4 12 4vS= ¢+Q 420 160 00| 3 20 44S+1 +K 650 16.0 0.0
3 11 3v V+2 &K -200 120 40| 6 16 2vS+2 ¢Q 170 130 30| 4 12 44 S= ¢T 620 13.0 3.0
5 15 24 N-2 *5 200 120 40|18 2 3v S+l ¢Q 170 130 30|13 10 44 S= v3 620 13.0 3.0
14 10 3v V+2 &K -200 120 40|13 10 14 S+2 v6 140 90 70|15 1 34S+2 ¢K 200 9.0 7.0
20 8 2vV+4 a2 -230 80 80|19 8 24S+1 &3 140 90 70|18 2 24S+3 ¢K 200 9.0 7.0
17 1 2NO+4  +J -240 60 100|15 1 1aS+1 ¢Q 110 6.0 10.0|11 9 24 S+2 ¢K 170 6.0 10.0
2 19 4v V= ¢A -620 30 13.0| 3 20 2NN-1 *4 -50 40 120(14 5 34 S= ¢K 140 4.0 120
12 9 4y V= &K -620 30 13.0(14 5 3NN-2 *K -100 20 140| 6 16 44 S-1 +K -100 1.0 15.0
13 4 4v V+1 +A -650 00 160(11 9 3«0-= +Q -110 00 16.0|19 8 445S-1 ¢+ K -100 1.0 15.0
13 ~E8 Basta kontrakt 14 48 Basta kontrakt 15 453 Basta kontrakt
Nord v KD4 34 O =-140 Ost v 987 6v O D -2 300 Syd v DKn86 3NT S =600
Alla ¢+ E10732 Ingen + D976432 NS + K543
«D63 & ¢ v o NT #EK & ¢ v & NT #Kn83 % ¢ v &4 NT
97 «KDKn543 N 7 8 6 4 4 475432 46 N 107 3 113 874 «EKN1092 N 9 9 8 6 9
vE9862 vKn7 S786 44 vKn vEKD105432 S 107 3 113 v9732 v1054 S 99869
¢ K98 ¢ Kn5 0657938 ¢ EK ¢ Kn105 026 102 2 +10962 ¢ E8 04456 4
*K75 *E104 V6578938 #76432 #5 V26 102 2 D10  #K94 V44564
#1062 + EKDKn109 4 KD6
v 1053 v6 vEK
+ D64 +8 ¢ DKn7
#Kn982 #DKn1098 *E7652
Par Kontr Ut Res Poang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
4 11 44 O-1 ¢+Q 100 160 00| 5 13 44 S= vJ 420 160 00(20 4 2NS+2 44 180 16.0 0.0
5 13 24 O= +4 -110 110 50| 4 11 34 S+2 ¢A 200 140 20| 8 18 2NS+1 44 150 140 20
12 10 24 O= »8 -110 11.0 50|19 3 4vO-1 4 A 50 11.0 50(17 3 24 0-2 vA 100 120 40
16 2 24 O= *2 -110 110 50|20 9 5v0-1 & A 50 110 50| 5 12 140-1 vA 50 100 6.0
19 3 24 0= *2 -110 110 50| 7 17 4v O= & A -420 50 11015 2 3NS-1 +6 -100 8.0 8.0
7 17 24 O+1 +6 -140 40 120(12 10 4v O= +8 -420 50 11.0| 6 14 2NS-2 48 -200 4.0 120
14 1 24 O+1 +Q -140 40 120(14 1 4v 0= +8 -420 50 11.0|11 10 3NS-2 v7 -200 4.0 120
15 6 24 O+1 ¢4 -140 40 120(15 6 4vO= +8 -420 50 11016 7 3NS-2 a7 -200 4.0 120
20 9 44 0O-= *4 -620 0.0 16.0(16 2 4v O+1 &A -450 00 16.0|13 1 3NS-3 *T -300 0.0 16.0
16 4 DKn73 Basta kontrakt 17 4 DKn1096 Basta kontrakt 18 4 KD5 Basta kontrakt
Vast v E853 4& V =-130 Nord vE53 ANT N =430 Ost vE4 5v S =650
ov ¢ E82 Ingen +103 NS ¢ D10752
*K3 & ¢ v & NT +D76 & ¢ v & NT #EKn6 & ¢ v & NT
» K862 «E10 N37 466 475 » E832 N9 7 9 1010 » 64 «EKN109732 N 5 11116 9
v 976 v KDKn10 S37 466 v72 vDKn1094 S 9 7 8 1010 v DKn v K5 S 5 11115 8
+43 ¢ D97 O 106 8 7 7 ¢ Kn98765 ¢D 045422 + Kn86 *4 072272
#DKn102 #E954 VvV 106 8 7 7 #542 #KKn8 V25422 21098732 #KD4 V72272
4954 aK4 LX)
v42 v K86 v 10987632
+ KKn1065 ¢ EK42 + EK93
»876 #E1093 *5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 7 4v0-2 49 200 160 00|17 8 24 0O-3 ¢A 150 150 10|17 8 4vyS= 4 620 16.0 0.0
8 18 24 O-1 v2 100 140 20|18 4 2NS+1 +5 150 150 10| 9 19 44DO-2 T 300 140 20
5 12 34 S-1 »T -50 120 40|16 3 24S+1 v2 140 120 40|11 5 340-2 +9 100 100 6.0
15 2 INO= ¢5 90 100 6.0|11 5 3#N= A 110 100 60(14 2 340-2 5 100 100 6.0
11 10 2v O = +J -110 80 80| 7 15 1v 0O-2 4 100 80 80|18 4 340-2 5 100 100 6.0
6 14 INO+1 5 -120 6.0 100|114 2 44 N-1 +Q -50 6.0 100| 6 13 24 O-1 v2 50 6.0 10.0
17 3 1vDN-3 #A -500 4.0 120 9 19 3NS-2 v2 -100 30 13.0| 7 15 14 0= v6 -80 4.0 120
13 1 3NV= ¢ A -600 20 14012 1 3NS-2 v2 -100 30 13.0(12 1 240= +K -110 1.0 15.0
20 4 3NO+1 v2 -630 0.0 160 6 13 3NS-3 v2 -150 00 16.0|16 3 24 0= ¢A -110 1.0 15.0
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19 &« EK93 Basta kontrakt 20 41062 Basta kontrakt
Syd v K1052 44 S =420 Vast v 1053 34 V =-140
oV +6 Alla + D64
#D1095 & ¢ v & NT #Kn982 & ¢ v & NT
46 4 D102 N 104 6 105 4 KDKn543 «97 N7 86 44
v 864 v DKn973 S 104 6 105 v Kn7 v E9862 S786 44
+ EK109753 ¢ DKn 0386 38 + Kn5 ¢ K98 O6 5798
&K3 &Kn62 V 386 38 #E104 &K75 V65798
4 Kn8754 4 E8
vE v KD4
4842 + E10732
#E874 D63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
18 9 44 N= v3 420 150 1.0|10 20 44 V-2 *4 200 16.0 0.0
19 5 44 S= ¢A 420 150 10(12 6 34V-1 8 100 140 2.0
7 14 4v O -4 48 400 120 40| 7 14 2vO= .7 -110 11.0 5.0
13 2 5¢ V-2 aA 200 100 6.0|13 2 24 V= *4 -110 110 5.0
15 3 24 N+2 ¢Q 170 80 80| 8 16 34 V= *J -140 6.0 10.0
17 4 34 S= ¢A 140 6.0 100|15 3 34 V= &2 -140 6.0 10.0
10 20 4v O-1 *2 100 30 13.0|19 5 24 V+1 &9 -140 6.0 10.0
12 6 4¢ V-1 4A 100 30 13.0[18 9 34 V+1 *4 -170 20 140
8 16 3¢ V= & A -110 0.0 16.0|17 4 44 V+1 *4 -650 0.0 16.0
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